MATH 102 Calculator Competencies

Upon completion of MATH 102, students should have mastered all of the calculator skills that are listed below.  If you are unfamiliar with any of these skills by the end of the quarter, please contact your instructor.  These are REQUIRED skills, so it is important that you take them seriously!

1. Adjust the contrast.

2. Use parentheses appropriately.

3. Use (Frac from the MATH menu.

4. Use 
[image: image1.wmf]x

from the MATH menu.

5.   Use abs( feature.

6.   Use the STO( key.

7. GRAPH functions.

8.   Use ZINTEGER and ZSTANDARD from ZOOM menu.

9. Use the TABLE and the TblSet menus, including TblStart/TblMin, (Tbl, and ASK.

10. Adjust WINDOW settings.

11. TRACE a graph.

12. Use VALUE from the CALCULATE menu. 

13. Use INTERSECT from the CALCULATE menu.

14. Use ZERO/ROOT from the CALCULATE menu.

SELF-TEST:   Use your calculator to answer all of the following questions.

1. Calculate the following.  Express your answers as fractions.
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b)   
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2.   Evaluate 
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 when x = -5.372.

3.   Evaluate 
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 for the following values:


a)   A = 16, B = 14, and C = 3

b)   A = 10, B = -15, and C = -2

4.   Is m = 
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 a solution to 
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5.   Is x = -5 a solution to 
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6. Produce the graph of 
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 on an INTEGER window.

a)   TRACE to complete the table.  

      Confirm your results by using the TABLE feature of the calculator.

b)   If x = 2.48, then y = ______.

	x
	y

	-25
	

	
	-9.5

	8
	

	
	23.5


Complete the table given 
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	x
	Y

	50
	

	50.2
	

	50.4
	

	50.6
	

	50.8
	

	51
	


8. Adjust the WINDOW settings so that both intercepts of the graph of 
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 are clearly displayed and the line does not appear vertical or horizontal.  State your WINDOW settings.

9.   Given 
[image: image12.wmf]4

3

)

(

-

+

=

x

x

f

, find f(15) and f(-9).  Also, if f(x) = 7, then x = ____?

10. Solve 
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 using the intersection-graphs-method.

11. Solve 
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 using the x-intercept method.

12. Solve 
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ANSWERS TO SELF-TEST

1.   a)  
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b)   
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2.   -75.83



3.   a)   15.16    b)   41.58  (Using STO( and 2nd –Enter may simplify this problem.)

4. Yes, substitution into left and right sides gives a value of 
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5. No, substitution into left side gives a value of 
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, while the right side gives a value of 
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6.
a)



b)   y = -3.14

	x
	y

	-25
	-23.75

	-6
	-9.5

	8
	1

	38
	23.5


7.  Make the following changes in the TblSet menu: TblStart/Tblmin = 50, (Tbl = 0.2.

	x
	Y

	50
	2

	50.2
	2.2004

	50.4
	2.4016

	50.6
	2.6036

	50.8
	2.8064

	51
	3.01


8.  Answers can vary greatly.  One possible setting of many follows:  

xmin = -1000,  xmax = 4000,  xscl = 1000,  ymin = -0.6,  ymax = 0.1,  yscl = 0.1

9.    f(15) = 14,    f(-9) = 2;  If f(x) = 7, then x = -14 or 8.

10.   x = 25



11. a = -14



12.   ( -(, -5 ]
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